CLASS 12

THREE DIMENSIONAL GEOMETRY

ANGLE BETWEEN TWO LINES
EXERCISE

Determine the angle between the pair of lines.

X—3=y+7=z—2 andX+1 =y—5:z+2
5 3 2 3 4 8
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(A) cos™ (B)cos™
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\/3482

(C)cos™ (D)cos™
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Determine the value of p for which the lines...

x+11 :y+3:Z—3 andx—3:y+12 :z—3
4 -2 4 p 2 -12

(A) p=11 (B) P =12 (C)P=13 (D)P =4

are at right angles to each other.

Determine the angle between the two lines given their equations.
r :i+j+f<+k(31—j+f<) and r :4f+i—2f(+u(21+3i+f<)

(A)cos™ 4 (B)cos™ N4

4
J14 154

(C)cos™* — (D) cos™ 4

154 V154
x-1 y+4 z-9
p 1

and

Determine the value of p for which the lines...

X+2 y-3 z-7
1 1 -2

(Ap=2 B)p=1 Op=-1

are at right angles to each other.
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